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91403 Demonstrate understanding of macro-economic 

influences on the New Zealand economy
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Credits: Six

Achievement Achievement with Merit Achievement with Excellence
Demonstrate understanding of macro-
economic influences on the New 
Zealand economy.

Demonstrate in-depth understanding of 
macro-economic influences on the New 
Zealand economy.

Demonstrate comprehensive 
understanding of macro-economic 
influences on the New Zealand 
economy.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–12 in the correct order and that none of these pages is blank.
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Excellence exemplar 2017 

Subject: Economics Standard: 91403 Total score: 19 

Q 
Grade 
score 

Annotation 

1 E7 

This candidate has received E7 for this question because they: 

a) shifted and labelled the AD curve correctly on Graph One. (1) Explained that 

Consumer Spending and Investment Spending would also increase due to 

the multiplier effect. (2) More detailed explanations would have explained 

the concept of incomes being respent more fully or why the government 
spending would lead to more consumer and investment spending, and 

included references to the model to help illustrate that economic growth will 

increase. 
b) shifted and labelled the AS and AD curves correctly on Graph Two. (3)  

c) fully explained how the increased government spending increased AD (4), 

led to an increase in AS (5), and increased economic growth while including 
reference to Graph 2. They fully explain that the shift in AD and AS from 

Policy Two will have a bigger long-term impact on growth than Policy One 

due to the impact on productivity being more sustainable in the long term. 
(6) A more thorough answer could have also mentioned the possible 

multiplier effect of Policy Two or its reduced inflationary impact in 

comparison to Policy One. 

2 M5 

This candidate has received M5 for this question because they: 

a) Explained that NZ's entry into further FTA's will remove tariffs and other 

trade barriers and lead to increased exports and export receipts for NZ, 

improving NZ's Current Account. (1). A more detailed answer would have 
included correct reference to at least one component of the Current 

Account. 

b) Explained in detail that the increase in export receipts would lead to 

increased production in NZ and, due to the derived demand for labour, lead 
to increased employment in NZ. (2) 

c) Failed to provide a detailed explanation as to whether the new FTAs will be 

more effective in helping achieve a balanced current account or full 
employment for the NZ economy. (3) 

3 E7 

This candidate has received E7 for this question because they: 

a) Defined Savings and Investment. A more detailed explanation would have 
made the link between increasing funds saved and increasing funds 

available for investment more clearly. (1) 

b) Identified a position on the business cycle where the NZ economy would be 

close to achieving the full employment level of output, (2) and explained in 
detail why they chose this point, including that nearly all resources in the 

economy will be employed to achieve this level of GDP. (3) 

c) shifted and labelled the AD curve correctly in Graph Three so full 
employment is reached, (4) and fully explained how an increase in 

investment caused this shift. (5) Furthermore, they fully explain how the 

scarcity of resources when the economy is operating at full employment or 
the boom phase will mean that any increase in investment spending will be 

highly inflationary (6) and will also have little impact on economic growth. (7) 

A more comprehensive explanation would have specifically linked the lack 

of significant economic growth to the limited availability of capital resources. 

 


